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(Candidates are required to give their answers in their own words as far as possible.)
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Total number of Questions are 19.
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Question No. 1 to Question No. 7 are Very Short Answer (VSA) Type Questions.Answer any five of
these questions mostly in one sentence. Each question carries 1 Marks.)
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Question No. 8 to Question No. 14 are Short Answer Type Questions.Answer any five of these questions
mostly in 50 words. Each question carries 3 Marks.)
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Question No. 15 to Question No. 19 are Long Answer Type Questions. Answer any three of these
questions mostly in 100 words. Each question carries 5 Marks.)

This question paper consists of three Groups A, B,and C.
AT YT & T @ & 31, 73R 7

All sections are compulsory
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Group A
gs-3r
Very Short Answer Type Question (31'%?%1’ ELRC R EG))

1x5=5
‘ELISA’ test is used to detect which diseases? ('UTolaT GLIGTOT &l YATIT fohd 19T I TgaTeT Hlat
& fore fRam Smar 87)

Who is called as Father of Ecology in India? (Rd & IR TEAfaehr &1 drets fhd a1 rarg?)
Expand the term BOD? (2Tsg '&T.371.3I" &l TATdTRd &)

The puffed-up appearance of dough indicates the presence of which gas? ('EPIGT' I & T
ST & ofle aTel I3 G 37 i 333 g3 3 fa, oy 3 hr sufeafa A aRarae &7)

‘Montreal Protocol’ was related to which issue? (‘HTETIFT Agler HWWW&E\?{@' q1?)

The technique which is used to synthesize multiple copies of a gene is known as:

(ferefY SfYeT 2 ahs TRl & HReTSUT o forT fohdr cTehetlen T SrYeT fohdT ST &72)

The type of interaction in which one of the species is harmed whereas other species remains

unaffected is called as: (98 TRETRe TohaT TSI Teh ST T JehdTeT BIclT & STaTeh GA SATTet
ITHTTIT BT &, FAT gl 87)
Group B
-9
Short Answer Type Question (FI'EI" I ge)

3x5=15
Name the three main sources of Biofertilizers. (3\3 33l & el REsLC FIdi o AT A7)

Name any three free living Nitrogen fixer bacteria. (AT3¢ISTel [EUHIOT & HeTIF fohegl cdlel
STaup3it & &A1 ST )

What will happen when a marine fish will be placed in an aquarium containing freshwater and
why? (T B13TT, ST TRl T HSll 1 AU STeT hr STelsiiaRiTelT (Ve Rz & 1@ fear
ST 3R FT?

Why Crystals of ‘Bt’ toxins produced by some bacteria do not kills the bacteria themselves?
(STATOLHT E@RT Scarierd ST 3TN gERT A Y eTehTel TG & ol fohed T SIATU] 1 ST HIg
e dTeT 161 BIclT, TET F4T?)



12. As we know bigger organisms like Dinosaurs has got extinct but various mammals, ranging from

13.
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15.

16.

17.

18.

19.

Antarctica like regions to the region of desert like Sahara, continues to survive till date. What may
be the reason behind the success of Mammals?

31T & GAT H SIafh SHAMER S8 93.-93. faeed &1 91 &, faffes Taerendy, fhe =g ag
3{TehTeehT SIHT 92T 1 T TOhT HERT SHAT eI, 31T T HoheTdl Jdeh 379s1T 3MTEccd S+lrU
T U E | 39 faaR & TAALTRET 61 $7 Thelcll T FIT HROT &Y HheT 82 )

What is Green House effect? Write the names of two Green house gases? Eiia?!‘_lé THT FAT 5?2
gRcAe[e FoTTa & Teier fehegl 2l 3t o w11 ford |

How Plasmids are helpful in antibiotic resistance in a bacteria? ColfoHS fhd TR ﬁsﬁawgaﬁa:

TETaifes gfaitrehdl H AGGIR &7

Group C
Ramr-w

Long Answer Type Questions

5x 3= 15
What are Transgenic animals? Why are such organisms produced and how can man benefit from

such modification? Explain. (TR SI] T &1 &2 E@ﬁﬁsﬁmﬂmﬁﬂwwm
¢ 3R AT & oI 3% 4T BIIC, 81 Tohd! £ 2 [ATdR & guTd 1)

Distinguish between the following. (=TI & & & 37aR &I Tase FIfHTI)
a. Natality and Mortality (STeH G dUT Hcg &)
b. Exponential growth and Logistic growth (W@wwwaﬁﬁ)
Cc. Hibernation and Aestivation (2 [afSshaar aar s AfSHzan
d. Ectotherms and Endotherms (STEATSHT 3T 3MTaRISHN)
e. Immigration and Emigration (JTHATHsT TAT 3cHdTH)

What is an Ozone hole? What is the reason for its formation? What is the connection between the
Montreal Protocol and Ozone hole?

3N g AT &2 ST FIT HROT §? AT AT 2T 35T (g T a1 aer g2

What is Air Pollution? What are the ill effects of Air pollution? How it can be controlled?

AT YGNOT T §? a1 TNUT o GSHTd &1 82 S8 el fAd e faham S ehelr 872

Match Column A with Column B

Column A Column B

A | Dobson Units i Snow blindness




B | Carbon dioxide and Methane | ii To control the emission of Ozone depleting
substances

C | Montreal protocol iii | Thickness of ozone

D |UV-B iv | Green house gases

E | Ozone hole v Formation of a large area of thinned ozone layer
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